FIRST SESSION Q.B. No.
TUH qTeft
2018 Ty -giedet 9’

N Question Booklet Series
Roll No.

Serdo (371 ¥ / in figures) Q
Roll No.

(=2l & / in words)

[qug  : 2:30 gUe quites : 150
Time : 2:30 Hours Max. Marks : 150

We A% HE A WY, TH WIF-Yiereht 1 T @i |
Do not open the booklet until you are told to do so.
T ¥ I F U Fad w1 /A aia-wise = w1 ST S
To mark answer use black/blue ballpoint pen only.
srvgefil ITM-TFFE W IW A A TgS A SRV H ARUHIgEE 98 |
Candidate must read all the instructions carefully before writing the answers.
HTTH! T WY IT HAA OMR IW-UFeh W 3 & | Tliern & Iutia Iw-u=eh Uieiarss Hi @i 21

You have to mark your answer on OMR Answer Sheet only. After the examination is over,
hand over the Answer Sheet to the Invigilator.

HEwIqOT 3T

et T % I 8wt weHl % 37 gEW g

2. OMR FW-79% W feu M wmF w apadl Hew gl

;(::iategory), TREA Fo, UA Ho, yH-Ifew o= ifra
[
-1 & e Sshl, 34 91 SpA § W St o e & w9
ﬁmﬁmmﬁ?ﬂm,miﬁwﬁﬁmOMRmm
W aifEE B AUl I-TAE B OYEAIEA TE AT
oo fomiert @ srgeff A 2rfi)
39 y-f& § 150 WA | YOS W % 9N JHfore IW
g mu &) enefl wd 3w ffde w@ g S B AR R
T 2, 399 QA Uk Mol 3A9al 99 ! I9-99% 9 FIet/
Fret ST-wige = ¥ W e W I

e : O Q@ D, wef @ vl IW R
wF § Afirs I A o T o Uy % IW H T gET S
Td 3@ S A Sy
TW TH-YIEE § §E uia W § | I W9 1 30 w5 R
V-1 § | W11 & iavia freft e w1 w93 &
IOEF AEE Wl ® IW I THE WA Sglawedrd §
ARRHS ediwa TE |
@y -gfEe & e £

-1 : 9 faeE g fremr fafy Yo o  1-30
-1 el fe= Yo Ho  31-60
W=D @ WD : STl Yo Ho  61-90
YA 3 Yo Ho  61-90

HATAT H&hd Yo Ho = 61-90

W—IV Tford s:o "o 91-120
WT-V  ; qataro srerE o Ho 121-150

ﬁa:om%ﬂﬁqmwaﬁmmg@iw%mﬁa
R T R Fw off 7 fod)

. IH-YfeH Gl ¥ gid 918 SiY 0 3@ © 5 w-yfa

& Wit 7y welt-wifd oY gu &) afe y-gfem & =5 3R 9,
aw?ﬁmmmamzﬁwmm
TR F |

OMR fiz @ fulfa R W gat fFu mo uvdt A g ot
o R A 3FaEvE Ifghad w)

Ife &=t v # 1 g |, A AU s A &y W
S|

N -

. The candidate should indicate his Category, Registration

. This Question Booklet contains 150 questions. Each

. This Question Booklet contains Five Parts. Each

IMPORTANT INSTRUCTIONS

Answer all questions. All questions carry equal marks.

No., Roll No., Question Booklet Series at the space
provided on OMR Answer Sheet.

For Language-II from English, Urdu or Sanskrit, choose
only one language which you have selected as an option
in your registration and mark on the OMR Answer Sheet
otherwise the Answer Sheet will not be evaluated and the
candidate will be solely responsible for it.

question has four alternative answers. The candidate has
to darken only one circle/bubble on the answer sheet
using black/blue ballpoint pen indicating the correct
answer as shown below :

Example : O @ @ @, where Dis the correct answer.

If more than one answer are marked, it would be treated
as wrong answer and it will not be examined.

question carries 1 mark. Attempt all the questions
selecting any one language from Language-II in
Part-III. All questions are multiple-choice types.
There will be no negative marking.

This Question Booklet consists of the following Parts :

Part-] : Child Development and
Teaching Method Q. Nos. 1-30
Part-II : Language-l : Hindi Q. Nos. 31-60
Part-1I1 : Language-II : English Q. Nos. 61-90
OR Urdu Q. Nos. 61-90
OR Sanskrit Q. Nos. 61-90
Part-IV : Mathematics Q. Nos. 91-120
Part-V : Environmental Studies Q. Nos. 121-150

Do not write anything on the cover page and inside the
question booklet except the spaces provided for Roll No.

If you happen to find that the question booklet issued to
you does not have all the pages properly printed or it has
any other deficiency, then you need to approach the
invigilator to get another question booklet of same series
and code.

The number of questions attempted must be written in
words and figures in the specified place on the OMR
sheet.

In case of any ambiguity in Hindi version, English version
shall be considered authentic.

A [N morning

(Read the OMR instructions on the last page of this booklet.)

(38 gfes % #ifaw 98 & faw gu OMR fdw # 931)




art—I / PART—I
are fawra va foeon f&fy
CHILD DEVELOPMENT AND TEACHING METHOD
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. Which is the

correct
cognitive domain?

sequence of

(1) Evaluation-Application-Analysis-
Synthesis-Comprehension-
Knowledge
(2) Evaluation-Synthesis-Analysis—
Application-Comprehension—
Knowledge
(3) Knowledge-Application—
Comprehension-Analysis-
Synthesis-Evaluation
(4) Knowledge-Comprefension—
Application-Analysis-Synthesis—
Evaluation

. Which of the following is not a quality

of good teachfﬁg?

(1) Democratic

(2) Sympathetic

(3) Autocratic

(4) Desirable information provider

. Expectancy theorv of motivation has

been given by

(1) Maslow

(2) Herzberg

(3) Victor Vroom
(4) Skinner

. To which family advance organizer

model is related with?

(1) Social interaction

(2) Information processing
(3) Personal

(4) Behaviour modification

. Which is useful in the transformation of

skills?
(1) Linear programme
(2) Branching programme

(3) Skills transformation is a journey,
not a destination

(4) Preparation and acquisition

https://www.upboardonline.com
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6. Which one is not the maxim of teaching
from the following?

(1)

From indefinite to definite

(2) From seen to unseen
(3) From simple to complex
(4) From deduction to induction

7. First step of microteaching cycle is
(1) (2)
(3) (4)

teaching
feedback

planning

introduction

8. Which of the following is included in the
teaching of understanding level?

(1) Application (2) Comparison
(3) Abstraction (4) Exploration
9. For educational reforms effective

decentralization is possible by

A. greater involvement of cluster and
block resource centres

B. availability of local resource person

C. resource and reference material for
the use of teachers

Choose the correct answer :
(1) Aand B

(2) B andC

(3) Aand C

(4) A, BandC

10. A student is reading, someone called

him by name. By which sensation he
(student) will respond from the
following?

(1)
(2)
(3)
(4)
What is the age of preoperational stage
in Piaget theory?

(1)

Tactual sensation
Auditory sensation
Visual sensation

Perceptual sensation

11.

Birth to two years

(2) Two to seven years
(3) Four to eight years
(4) Five to eight years

| P.T.O.
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12. Which of the following is not the
characteristic of intellectual develop-
ment of later childhood?

(1) High interest in science fiction
(2) Increased logical power
(3) Operational planning of career
(4) End of imaginary fears
13. Which of the following psychologists is

associated with ‘language development’?

(1} Binnet (2) Chomsky

(3) Pavlov (4) Maslow
14. Thorndike proved his theory titled

(1) trial and error learning

(2) sign learning

(3) cognitive learning

(4) space learning

15. Gang age associated with age and

delayed development is
(1)
()
(3
(4)
16. Which of the following is the third stage

of cognitive development according to
Piaget?

(1)
(2)
(3)
{4)
Which is not included in psychological

factors that contribute in learning from
the following?

3-6 years and language
8-10 years and socialization
16-19 years and morality
16~19 years and cognitive

Pre-operational stage
Concrete operational stage
Formal operational stage
Sensory motor stage

17.

{1} Motivation
{2) Interest
(3] Learning desire
{4) Nature of content
18. Which of the following is a social value?
(1) Primary goal
(2) Instinct
(3) Altruism
(4) Aggression need

https://www.upboardonline.com
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19.

20.

21.

22.

23.

24.

Backward exploration and means-end
analysis are examples of which of the
following?

(1)
(2)
(3)
(4)

Algorithms

Mental sets

Heuristics -

Functional fixedness

“Curves of learning give graphic
representation of the amount, rate and

limit of improvement brought about by
practice.” Who said it?

(1) Ross

(2) Ebbinghaus

(3) Skinner

(4) M. L. Bigge

Which one is not included in

Thorndike’s primary laws of learning
from the following?

(1)

Law of exercise

(2) Law of effect

(3) Law of associative shifting

(4) Law of readiness

Conditioned response theory lays
emphasis-on conditioning of

(1) behaviour

(2) thinking

(3) reasoning

(4) motivation

The other name of operant conditioning
is
(1)
(2)
(3)
(4)

instrumental conditioning
classical conditioning
contiguous conditioning

trace conditioning

Which of the following is not a

characteristic of learning?

(1)

Learning is a relatively permanent
change in behaviour

(2) Learning is a growth of organism
(3) Learning is directly observed
(4) Learning is a goal-directed process

[ P.T.O.
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25.

26.

27.

28.

29,

30.

A2)

Kohler wanted to prove that learning is
(1) an autonomous random activity
(2) cognitive operation

(3) a situation in which individuals are
superior to animals

(4) the perception of different parts of
the situation

From where to start in order to learn any

new language?

(1) Formation of sentences

(2} Formation of words

[(3) Association between letters and
words

(4) None of the aboye

Which type{s) of students is/are

included in inclusive class?

(1) Gcncrgl and specific students

(2) Only general students

(3) Only specific students

(4) Multilinguistic and gifted students
From the following, which term defines

the mathematics-related learning
disability?

(1) Dyslexia
Dyscalculia

(3) Dystopia

(4) None of the above

Successful inclusion needs

(1) no involvement of parents

(2) segregation

(3) lack of capacity building

(4) sensitization

Which of the following is not the element
of emotion?

(1) Physical

(2) Cognitive

(3) Behavioural

(4) Sensory

https://www.upboardonline.com
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HeT—III / PART—III
W11 : 30t / Language-1I : ENGLISH

Direction : Read the passage given below
and answer the questions that follow
(Question Nos. 61 and 62) it.

Yesterday, two brave children of Gangapur
were awarded Brave Hearts Award. They have
exhibited a great spirit of selflessness and
courage. Harsh, a twelve-year-old boy, saved a
little girl from drowning in the river that flows
along his village. Garima has been awarded
for her presence of mind.

61. Which kind of noun is Gangapur?

(1) Common noun

(2) Collective noun

(3) Material noun

JA) Proper noun

62. Which part of speech is the word
‘brave’?

(I) Ngun

(2) Pronoun

(3Y" Adjective

(4) Preposition

Paper-1/A

10

63. Which of the following words

material noun?

(1)

Cow

[/2].4 Gold

(3}

(4)

Air

Class

is

a

64. Which of the following words is an
abstract noun?

()

(2)

(3)

(4)

65. Which kind of noun is ‘adversity’?

(1)
(2)

9

(4)

Connection

Boy

Woman

Plough

Common noun

Proper noun

Abstract noun

Collective noun

https://www.upboardonline.com



66. Which part of speech is the word ‘hard’
in the sentence ‘He is working hard'?

h{p,. Adverb

. {(2) Conjunction
(3) Preposition
{4) Noun

67. Which of the following sentences has a

‘conjunction’?
(1) She is awfully busy.
(2) I am nobody for you.

She is poor but she is by nature
hospitable.

(4) My grandfather is not well.

68. Point out the sentence which is in
present perfect tense.

(1) I shall go to Jaunpur tomorrow.
(2) She is very intelligent.
(3) Your sister visited us yesterday.
(4) .1 have finished myv work.
/ .
69. Which of the“foll®wing is a misspelt
word?
(1) Desiccation
(2) Descendant
(3}/'Dcrogatary
(4) Dem']atitis

Paper-1/A

70. Which of the following sentences has a
transitive verb?

(1) She walks in the morning daily.
_[2y He is running very fast.
(3) She writes well.

(4) 1 killed a snake last night.

e

71. Which of the f{ollowing sentences is
negative?

(1) I come from a rich family.
(2) You can do all this in no time.
(3 He does not listen to me.
(4) They are very gentle people.
72. Whicﬁ of the following sentences is
exclamatory?
_HT What a piece of work is man.

(2) What do you know about ancient
India.

(3} Which is your favourite book.

(4) His cruelty knew no bounds.

73. Point out the complex sentence.
(1) They are very wise people.
(2) You klnow me u;ell.
(3) -She does not sing.

(4) _.One who does not love one’s
- country is a wretched person.

\ | P.T.O.
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74. Which of the following words is ‘plural’?

(1) Dog
(2) Fox
(3) Goat

ﬁ)/ Mice

75. Which of the following words is regarded
as singular?

(1) Deogs

-_‘tﬁ']/ Mathematics
(3) Cats
(4) Cars

76. Which of the following sentences is in
active voice?

(1) He was asked to keep quiet.
MA house was bought for fifty lacs.
\ﬁ'}' I requested him to come in time.

(4) He was hit badly.

T7. Which ol the following sentences is in
pussive voice?
Please mind your business.

(2) T kept
meeting.

quiet throughout the

/(_3}/1-'[‘& was assisted by a group of

e students.

(4) They came late and lost the match.

Paper-1/A

78. “That is the man the police was
seeking.”

In the above sentence, what is the
status of the two the's?

(1) Verb
(2) Noun
(3) Conjunction

(4) . Definite article

79. “These students are gnost disobedient.”

In the above sentence, point out the
gender of the word ‘students’.

(1) Femirfhe gender
(w/ Common gender

(3) Masculine gender

(4) None of the above

80. In the sentence ‘He was going along the

road’, point out the tense.

(1) Present perfect

(2) Past perfect

Mast continuous

(4) Future indefinite

81. Language learning starts from

% writing

(2) reading

N listening

(4) speaking
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82.

83.

84,

What is the main purpose of poetry
recitation in a language classroom?

(1) To know the historical background
of the poem

(2) To enjoy and appreciate the poem

(3) To give their opinions about poem

(4) To become aware of the poet and
his/her work

Fill in the blanks with the correct

article :

Yesterday | saw Eurepean riding

on _____ elephant,
(1) the, the
A2 a, an
(3) a, a
(4) a, the

Choose the correct sentence :

(1 *Please describe about the story.

(2) Please describe the story.
(3) Please describe of the story.
(4) Please describe to the story.
85. Fill in the Mlank with correct
preposition
A prisoner woused murder.
(1) of
L%'"For
&
M to
(4) off
Paper-1/A

13

86. The antonym of ‘innocent’ is
A1) clever
(2) ignorant
(3) active
(4) guilty
87. The synonym of ‘significant’ is
[rl) prominent
(2) magnificent
(3) efficient
{4} important
88. Which one of the following words can be
made plural by adding a suffix ‘en’?
(1) Box
(2) Tax
{3) Max
(3} 0Ox
89. Choose the correct pronoun to complete

90.

the following sentence :

This dress is and that one is mine.

{1)

our book

(3} your
(4) your book
Change the following sentence into

passive voice :
Have the girls asked this question?
(1)

(2J/Has this question been asked by
the girls?

This question have asked by girls.

Has this question asked by the
girls?

(4) Have this question asked by the

girls?

[ P.T.O.
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61

62.

63.

64.

65.

HTT—III / PART—III
WT-11 : §&Fad / Language-II : SANSKRIT

. Fashy w2 = afar
(1)
(2) FEE
(3) TFY

(4) 9

Hfearl % 3 afeaat=?
(1)
(2) HaF!
(3) Felr

(4) @A

GECIR:
(1) @rd w4
(2) T EEE
@) 3 &k
(4) gedEd "

HeFd B wEIER o 1 wEd R

(1) WM

RO T
4 A

‘F7ET A 9EE #
(1) %%

(2) gshfe
(3) =fivE

(4) g

Paper-1/A

66. F13 T FH TE Bia1 27
(1] =
(2) %
(3) 9
(4) =1

67. HegohsIUT A fFu favifh &1 Tiuw 27
(1) fadrn fawf®
(2) wah favfe
(3) gdw it
(4) wgdl fasfe

68. ‘TraFafy’ wes F afu-fa=de dm
(1) =R + JY
(2) el + Fam
(3) = + &

(4) HEHI + Y

69. A F FEFA § F7d §
(1) =F:
(2) T
(3) FIA:

(4) FTH:

70. A @AM A T’ § FH-W FEF 27
(1) Fm
(2) 9REH

(3) ®WEH

(4) F

18
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71. ‘3N YR F WHY, qgT9H ¥9 B 76. '3 1 T WH B

(1) TN (1) U3
2) = (2) ©1g
(3) =H (3) AriEE
(4) @@ (4) 7l
72. W W= 1 A, vFEE w9 3 77. 'aﬁ%m’mﬂugﬁﬁwm%a%nﬁﬁ
Eal A _
(1) -
(1) ge
(2) T
(2) =g
(3) ™Y
(3) g
4) T
“ @ fadm

73. Uy’ wee =1 wwdl, Cwa=a w9 ¥ 78. ‘R’ v R oo e 2

m (1) fedmn, gFe=m
(2) faaR (2) T, e
3) T 3) g, T
(4) T (4) WgHI, TETA
74. 'TF WERER F i au ¢ 79. ‘wu:’ W= & favfs s T
(1) 3,79, (1) w8, aga=d
(2) %,% 3,7 (2) WYH, TFHEEA
B) %3, F, 9 (3) TYHI, wga=H
(4) 3,3 B P (4) wHl, GFaEA
75. SR EA o 80. wuafa:’ = gem =1 Auw R
(1) ez (1) B3
(2) = (2) fearma
(3) =B {3;} HH3
(4) TERE (4) B@E
Paper-1/A 19 [ P.T.O.
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81.

B2.

83.

84.

85.

yaq frgmeR § e W, qee ofw a=e R
(1) 2. 99M, I
(2) @, Wom, TFa
(3) @I, WuH, GEEA

(4) 2, AR, TR

FAA a2 TE 2
(1) %

Gl

AMg

(2)
(3)

(4) A9

‘wfl w2 F am 4 wgm ) w9 3 faufE R
At

QIR

g1

gl

(1)
(2)
(3)

(4

‘FeEl’ Y % TR §
(1) e

(2) =moE
(3) ¥

f) ofte

Hermia FieeE gra fafse T §
(1) Tgawy

(2) FHREE

(3) i,

(4) ARy

Paper-1/A
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86. U9 H-Y F1 e B

87.

88.

(1) wyER
(2) TEE:
(3) ®=A4:

(4) Fem:

‘yamgey’ @ Wt wdm e
(1) 3Fm

2) ®:

(3) =ug

(4) afae

'y’ urg ¥ T W 9 FR WOES T
(1)

(2)

yedl
Wy
yfa:
ufy

(3)

(4)

89. BgTa fheor wuredl A 2

(1) T Hh
(2) T H
(3) =TT H

(4) =0

90. [ a9 2

(1) B: 78 TS|
(2) & T8 Teof|
(3) % TR B
(4) & T =B
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91.

IT—IV / PART—IV
o / MATHEMATICS

A% PF P% 36 &, 4 P SUET B

91. If P% of P is 36, then P is equal to

(1) 3600 (2) 600 (1) 3600 (2) 600
(3) 15 (4)-'60 (3) 15 (4} BO
92. 7fF 2352=2%¥x3¥ x 7%, @@ x+y+z F 92. 1f 2352=2% x 3¥ x 7% then the value of
o4 2 X+y+zis ,
0 s 2 7 1 s A 7
@ 8 4 9 9 8 & 9
- - . \ . Th b f ivi
93. 100 ¥ "R woE A T 2 93 ;];ﬂala bréum er of even divisors of 100
(1 6 (2) 5 —1j 6 (2) 5
{3) 7 (4) 8 (3) 7 4) 8
94, 15 cm 941 gl frefi 29 9 8 3 em L Cl TTA 94. How many cubes of side 3 cm can be
Fd a4 99 F12 5 OFA B Y separated from a cube of side 15 ecm?
(1) 25 (2) 27 [1}' 25 (2) 27
(3) 125 (4) 144 A3) 125 (4] 144
LORG s e s 95. 11 31989 s divided by 7, then
RS ets - . Y .
95. 3 4 7 | 9 A W OTEA 2 T emainder is
(1 7 (2) 6 1y 7 (2] 6
i3] 8 4 0 13) 8 (4) ©
96. UF WgY¥ & H-AHVI F AWM 2160° Rl 96. The sum of interior angles of a polygon
agﬂqzﬁ ﬁme,ﬁﬁ HET B = is 2160°. The number of sides of the
; . polygon is
1 12 (2) 13 (1y 12 (2) 13
(3) 14 4 15 (3) 14 @) 15
-
O7. WAR B N F WAL T R 97. The least non-negative prime integer is
(1) O (2) 1 (1) 0 (2) 1
(3) 2 4 3 A3 2 4) 3
& *4 & folu 972 / SPACE FOR ROUGH WORK
Paper-1/A 21
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98. (1L+11 1115+ 1111)) s
(1) 1236 % (2) 1233 %
1239 *

99, aft @i wEfw FEnal o ¥R b ¥ fou
axb=a®+b%—agh?, A 9«10 H A B

(3) 1263 % (4)

98.[1%+11-}—)+111-:]§+1111%J 1s equal to

41 1236 ()

(3) 1263 (4)

1233
1239

99. 17 avb:az+b2—ab for all natural
numbers a and b, then the value of

1) 90 2) 91 or10 s /!
(1) (2) (1) 90 y{ 91
(3) 181 (4) 182 (3) 181 4) 182
IOD'UF; x ¥R 29 AR e werd g, 100. If x and y are non-zero real numbers,
X rxyty then x2+xy+y2 o
(1) BH UM 2 (1) is always negative
(2) x 3 y & Fo T F fog 77 B (2) takes the value .zero for some x
d
(3) THEN YATHS & anc y N
e 2 .--['3)’ is always positive
L L ‘ ; (4} takes both positive and negative
CERI values
101, Hem 101. The number at the place of * in the
— — — - adjoining figure
3 2 7 5 — —
] =
[a{7]6] [3]s[1][8]1s[6] [6] =4 3 2 7 5
1 p 5 p al7]6||3]s]{1][8]5]6] 6]«]4]
T . - - 1 4 9 7
) . L | " | 7 | L
T+ % TR T HE g
(1) 8 2) © will be
(3) 10 (4) 11 (1y 8 2) 9
. . (3) 10 @1
102. 92 Frdl @ urafos gEmslt a sl b ¥ for
a? =125 &, dpa R 102. ]fbfor any two na;u‘rai numbers a and b,
(1) 241 @) 242 a- =125, then b" is
(1) 241 (2) 242
4 4
(3) 243 (4 247 3 243 (4) 247
103. 1 'l%ﬁ.?ﬁmg’m P FENH | 103 The least number, divisible by all the
194 i Sl natural numbers from 1 to 10, is
(1) 5040 (2) 2520 N 5040 \ar” 2520
(3) 1000 (4) 100 (3) 1000 (4) 100
% % % U W% / SPACE FOR ROUGH WORK
Paper-1/A 22
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104. R 4/8/2017 F YEHAR B, a9 61 f +

105.

aR FA-91 &3 gm?
(1) TTeER

(2) 9HaR

(3) Feefdam

(4) FHAN
fau m

104. If it is Friday on 4/8/2017, then what

will be the day after 61 days?
(1) Tuesday
y’ Wednesday
Thursday

[4) Friday

105. In the given figure

N
6 W ©
3 AB||CD, then the value of y"-x°is
O_ o0
AB||CD, @@ y°-x° %] OF 2 a7 10° 2) 200
(1) 10° (2) 20° (3) 30° (4) 40°
0° 4) 40°
B3 # 40 106. If by selling an article for ¥390, a
10‘6.1[% ﬁﬁfﬁ sqliqal{ Eh:'[ @ a—lﬁ 33)[ !39‘0 e [ Shopkcepcr gains 200;"31' thf:n the cost
T W 20% F @Y '@ R, 9 qEG F HA- price of article is
e 2 (1) &321 (2) 323
(1) ¥321 (2) 323 (3) #324 L[tj],/!"325
(3) ¥324 (4) ¥325 107. If the population of a town has increased
107. 3% Bl F= 1 SHEEN 60000 ¥ TG from 60000 to 65000, then the increase
65000 B W 2, @ wwwwm # qﬁa i population {in percent) is
' 9 o1
(wieera R) & (1) 7@ e 85
9 1 .
(1) 7= (2) 8 1 1
13 3 (3) 77— 4) 8-
1 1 4 9
3) 7- (4) 8- .
4 9 108. 40 persons consume 200 kg of rice in
i < 30 days. In how many days will
108. 40 fzﬂ'i ?0 fAi 5 _200 kg @ﬁ: d 30 persons consume 500 kg of rice?
5L 7 30 =F 500 kg AT=A @ ¢ | (1) 120 2) 80
(1) 120 (2} 80 ! (3) 90 “@1100
(3) 90 (4) 100 ,
. ; 109. In a rhombus, the lengths of diagonals
109. TF HHe: 5+ e S} @EmEA 16 cm A9 are 16 cm and 12 cm. The side of the
12 cm @1 BHF }Qi # Hel S rhombus is
(1) 7 cm (2) 8cm (1) 7 cm (2) 8cm
(3) 9¢cm (4) 10 cm (3) 9cm /[41" 10 cm
T % ¥ {7y R / SPACE FOR ROUGH WORK
Paper-1/A 23 | P.T.O.
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110. e f9=3 % @ PAQ T8 =t fag A W w
Fdl & 9N ABCD T TH 99 B

7\

B

P y: ",
e LZCAQ=70° %, @ LABC?®
(1) 70° (2) 80°
(3) 110° (4) 90°

111. 3R 8 T F -8 6 W & -3 &

qued g, @ o9 wfdva &

110. In the given figure PAQ is the tangent of
the circle at point A and ABCD is a cyclic
quadrilateral.

If ZCAQ=70°, then ZABC is
(1) 70° (2) 80°
(3 110° (4) 90°

111. If the cost price of @ pens is same as the
selling price of 6 pens, then the gain

(1) 113% (2) 131% percent is
: (1) 111% (2) 135%
(3} 331l% (4) 25% ®
3 4377 334% (4) 25%
112. 7= 3 § F9-4 ofdg gen 2 o 4 & A
T s 27 112, Which of the following rational
19 5 numbers does not lie between % and %?
(1) == (2) = 1 2
30 3 1 = @ 3
30 3
7 16
3) — (4) — 7 .16
10 30 3) — @ =
10 30
113. afz 3 1, 2 fra it 4 @ F g €02 ® _ |
aq 8 e 3 16 T F T F68 2 a9 113. If the price of 3 pens, 2 pencils and
N 3 ! 4 erasers is ¥92 and the price of
24 T =51 7Y 8 pencils and 16 erasers is ¥68, then
(1) ¥625 (2) ¥500 the price of 24 pens is
(3) ®675 (4) €600 (1) ¥625 (2) €500
(3) ®675 4] €600
114, 79 W& fye 9 = 7@ | wFa §, IR =
fan e R 114. We cannot construct a triangle, if we are
L @ s given
'{L‘ _ QT kRl (1) two angles and one side
<] __{'&m AR ST [2) only three sides
3) e dF (3) only three angles
(4) T 3N FF 7 (4) two sides and included angle
T w4 % f8Y W% / SPACE FOR ROUGH WORK
Paper-1/A 24
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115, IR e srarER save ) o= R e | 115. 1 the length and  breadth of a
B R 50% U1 20% 5 7{% & & WY, d rectangular plot are increased by 50%
THF] Wﬁ"ﬂﬂm g SICT? and 20% respectively, then how many

' times will its area be increased?
m 14 (2) 13 (1) 12 2) 11
5 ) 13
@ 2 4) 1 4 1
5 5 £3) 4 (4 4
116. m‘ I & 3 %;T-ﬁ'{ F A 37 °C R AR 116. The temperature of a normal human
ge T body is 37 °C. In Fahrenheit scale, this
(1) 984 oF (2) 986 °F temperaturc is
(1) 984 °F (2) 986 °F
{3) 98 °F (4) 988 °F e
(§ 98 °F (4) 988 °F
117. 3% 124224 4022285 @, @ ’
2 . n2 2_
0112 +(022)2 + .. +(0-99)2 %1 7F ¥ 117. If 1° +2° +..+ 9% =285, then the value of
710112 40222 + .. +(0-99)2 is
(1) 24485 (2) 024485
(1) 24485 (2) 0-24485
(3) 34485 (4) 034485
w 3-4485 @®4) 0-34485

118, TF T FYURY =079 | 10 q91 7 G 8 et -

PR e i T wE A ﬁTﬁ & | 118. A sum of money at simple interest
sTf? doubles in 10 years. In how many years,
: at the same rate, it will be tripled?

(1) 30 @ (2) 259 (1~ 30 years (2) 25 years
(3) 20 =d (4) 15 = (3) 20 years (4) 15 years
119. 80 m =H T T 9% ¥ H= | 119. In a circular park of diameter 80 m,
HYFIN STFA F1 TH TR @A H A= there is a square-shaped playground of
T 21 O F EF F7 84959 B maximum area. The area of the
o N playground is

1) 6400

) m (2) 1600 m (1) 6400 m2 (2) 1600 m?2
2 2

3) 3200 4 80 .

(3) m (4) 12800 m (3} 3200 m?2 (4) 12800 m>2

120. 240 ¥F # & glan A feeft olamfi 3

- LI 3 : 120. In an examination of 240 marks, a
52 3% A4 ) - q ¥H |/ student scored 52 marks. In pie-chart,
=0 3 the corresponding angle is
(1) 7 (2) 78° (1) 75° (2) 78°
B) 63 4 13" (3) 63° (4) 13
% &g ¥ {7y W% / SPACE FOR ROUGH WORK
Paper-1/A 2
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121.

122.

123.

124,

125.

126.

YM—V / PART—V
qatetuita 3zrgd /| ENVIRONMENTAL STUDIES

‘fava watgm 2w’ wa 7@ s 27
(1) 2 femey

(2) 16 faaen

Br s

(4) 11 g

o 8o WHHAYA TH

(1) 99&R 2

(2) ¥ amf=

(3) witfeufeeh dafres 9

(4) waft afas A
ARCTARF TR W% R (T=go Ao
¥30) gl T 37

(1) =% Rg

(2) =g

(3) IMFHRETY

(4) ‘TR

TFHT -GN F A ) P9 g § ¥ Bl
G o 87

(1) #feram

(2) I

(3) Fd7 SRHTHTTS

(4) ATadraH

Jufy INE] #) @R T 6 ) w5 o 2
(1 .e-:.'qﬂ
PANRN L)
3y TR

(1) TaEvef

W i ¥ g wan f 391 wm B 27
(1) a-foazqq =i

(2) #n F

(3) aTdE Wi
(4) wfifra 3=

Paper-1/A

121

122

123.

124,

125.

126.

. The World Environment Day falls on
(1) 2nd December

(2) 16th September
(3}~ 5th June

(4) 11th July

. M. S. Swaminathan was
(1)
~A2)
(3)
(4)

Where is Wildlife Institute of India (WII)
located?

(1) New Delhi
(2) Coimbatore
{3) Ahmedabad
[:1] Dehradun

a journalist

an agricultural scientist
an ecologist

an ornithologist

During photosynthesis, which of the
following is absorbed by green plants?

(1) Helium

(2) Nitrogen

13y Carbon dioxide

(4) Oxygen

The organisms which feed on the waste
products are called

HT} detrivores

(2) carnivores

(3) herbivores

(4) chemovores

What type of energy is derived from
heated groundwater?

8 Hydroelectric energy

(2) Solar energy
(3) Geothermal energy
(4) Nuclear energy
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127, I STEIYS Fa1 910 918 87

(1) ufeadt gz
(2) &R
(3) fTemer
(4) fauaras
128. s § Ufera usft waf w90 # £7
(1) ez
(2) FHIPTH
(3) FER IR
(4) 3I7F WA
129, ‘WHmm@ T T maeh @n @ B g, e
it g ° 9 s R
(1) rdts
2)
(3) *FaEm
(4) 9gw @t
130. R v w1 svsmm zm = d e w
730 B7
(1) 30 ya
(2) ziaoh ya
(3) AT
(4) 39w & | 2 76

131, 398 ¥ 1R 9Rd #1 99N §&4 e o017
(1) o TE=fe wTH
(2) AR = T
(3) TATE Ao Al

(4) TRe #TMe =&
132. T2 2@ ¥ fraw wrafa 27
(1) Hfedi 8 ygam
(2) HZA YN qA-FH
(3) fadfh = =fa s
{4:. aF:Lg?qu
Paper-1/A

127. Shola grasslands are found in
(1)
(2)
(3)

the Western Ghats
the Eastern Ghats
the Himalayas

(4) the Vindhyans .

128. In India, pelicans breed in

{1} Nelapattu
(2) Koonthankulam
(3) Kokkare Bellur

All of the above

i)

129. ‘Minamata disease’ was caused by
eating fish which have high levels of

(1) arsenic

(2) mercury

{3 cadmium

(4) Al of the above

130. Maximum ozone depletion has been
observed in which of the following?

4T) The North Pole
(2) The South Pole
@ The Equator

(4) None of the above

131. Who among the following was the first

Chief Justice of India?
(1)
{2)

M. Patanjali Sastri
Mehr Chand Mahajan

(3) Hiralal J. Kania
{4'] S. R. Das
132. The ‘Red Data Book’ is related to
{1) pollution in rivers
(2) decreasing underground water level
4] animals near extinction

(4) air pollution

27 { P.T.O.
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133. T § F F40H TPE Jieen A 6 e
v
(1) i =ma
(2) T@ Imi
(3) wiferl Wz
{4) Tmgrdig e
134, &= @ 3R T W € G4 d9F TEEk
0 WTga ) TR R?
(1) g
(2) o BN F 3NAY
(3) W
{4) T |V F BINTY
135. 9faum ¥ frg wm 4 Jarad! tsisgaen g
wraur few o 7
(1) IX (2) VI
3) 11 (4) IV
136. 7449 afaur d@mym = gy
(1) T Ty WS |
(2) T&d EE w8
(3) Tufa 1 wiferat 3
(4) "Ee ) wiiwal |
137. T8 N8 % aui % ol & gem § 3f = o
FEAT B ATE 27
(1) ®TEgH Wies
(2) TR AR
BRI HCIE 21
(1) AR 213TaTEE
138. w0 M alay A ‘fafy =1 wmas’ faum w71 &
o mn 27
(1) Wi
(2) FUR
(3) TEzedve
(4) TR
Paper-1/A

28

133

. Who among the following is the present

Chairperson of the National Commission
for Women?

(L
(2)
(3)
(4)

Girjja Vyas
Rekha Sharma
Malini Bhattacharya

Yasmeen Abrar

134. The joint sitting of the Lok Sabha and

135.

136.

137.

138.

the Rajya Sabha of states is summoned
by
A4
{2
(3)
(4)

the President

the Speaker of the Lok Sabha
the Parliament

the Chairman of the Rajya Sabha

Which Part of the Constitution has the
provisions gpr Panchavati Raj System?
(1) I1X (2) VI

(3) m (4) v

T4th Amendment of the Constitution is
related to

(1] Rural Local Self-Government

(2) Urban Local Self-Government
{3) Powers of the President
{4) Powers of the Parliament

Which of the following gases soluble in
rainwater causes acidic?

(1
(2)
(3)
ﬁ],- Sulphur dioxide

Hydrogen peroxide
Nitrogen monoxide

Carbon dioxide

‘Rule of Law’ concept has been taken in
the Indian Constitution from

(1} USA

(2) England .

(3) Switzerland

(4) Ireland
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139. &% aw ¥ g9@ ¥y sfmEw #9 W@ | 139, Who carries out notification for the

FAT 27 election of the Lok Sabha?
(1) 74 1 faatm smam {1} Election Commission of India
(2) Trf'ﬁ (2} The President

(3) Home Ministry

(3) 7R WA
(4) Lok Sabha Secretariat

(4) & | wfaaeE
140, The first hour of business of the Lok

140. @ gyl £ FEEE ¥ wyn 9w F) FH Ao Sabha is known as
2 (1) Public hour
(1) AEAF FTA (2) Privileges hour
{2) Taerrfusn #a (3) Zero hour
{3) I FT4 (4) Question hour
{4) WA #A 141, What is Rainwater Harvesting?

(1} Collection and storage of used

141, avi-9F GuET’ ¥ R water https://www.upboardonline.com

(1) 9 5 F1 908 3R MUgRo {2} " Collection and storage of rainwater
2) =Ff-3@ F1 AWE 3 WUERm (3) Distribution of water

(3] uH = faao (4) None of the above

(4) 31 i ER R 142. Indian Rhinoceros is protected in

142 o1 el TRl &7 (1) Corbett National Park

i2) Kaziranga National Park -

v . : i (3) Bandipur National Park

@ o T (4) Gir National Park

(3) € A qreh | o

(4) TR Yva o 143. Which of the follc'rwmg series is true

about energy flow in an ecosystem?
143. = & | #9-a1 =0 gifufis @3 3 =+ (1) Producers—Decomposers—

TR % G-y § gE 27 Consumers

(1) IEF—INTIZF—IIIHITH (2) Decomposers—Consumers—
Producers

(2) FTHZEH- TR —ITAEH (3)-Producers—Consumers—

(3) I il IEEE ' Decomposers
(4) 3% ST qITF- o qUAIER (4) Consumers—Producers—
Decomposers
144, FR-| Moo 0 amem & gl sfis
wr & TuftE w27 144. Greenhouse gas, which is present in the
. highest quantity in atmosphere, is
(1) wr4a
(1) propane
(2) UHH (2) ethane
(3) FTeA TEIHTFARS {3y carbon dioxide
(4) A (4) methane
o
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145. Ty oo ) vl F s dn @ 93 §7

146. Tt iafafiat, N geft @ sy wimd &

147, geitacd! ¥fiefl R A9-9 saa a9
T 7Y ¥ fovn S e A

(1) g

(2) Feeme

(3) FR <frE

([4) wdmen

T D o’ wm H wEd o
-9 21 38 sl D4 F g wd 3§ ope
t W WE TEmPE (scientific) W
sifemm d9en B EF gre: fRg am A
A1 AT R

(1) o=

(2) Tk

(3) H¥EEA F Gl

(4) e

149. 1 % fore g vt =) 90 Fea &7
(1 4R-ag g
12) HHd S|
3, ™A EA
(4 T g

T4 1984 F W M TEd Fom § } fem
T\ % e ¥ wro g€ oft?

(1) Toume smeame

(2) AT Al

(3) R

(4) rEA AT

148.

150.
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145. Plants are green due to the presence of
which pigment?

(1) Carotenoid

(2) Lycopene

(3) Anthocyanin

(4)- Chlorophyll

146. Human activities that cause climate
change on the earth include

(1) burning of forests

(2) agricultural activities

(3) use of aerosol cans

{4) All of the above

147. Which crop belonging to the family

Euphorbiaceae i¥known for producing
biodiesel?

(1} Jatropha

(2} Camdlenut tree

(3} Copper leaf

(4) Sarpagandha

148. The Queen of Herbs' is the most sacred

herb of India. This medicinal plant has
importance in Hindu mythology and has
the scientific name Ocimum Sanctum.
What is it commonly called?

,(-'Y]/ Tulsi
(2) Rosemary
(3) Thyme
(4) Coriander

149. The water that is safe to drink is called
potable water
(2) distilled water
(3) freshwater
(4) tap water

150. The Bhopal Gas Tragedy of 1984 was
due to the leakage of which of the
following gases?

‘/(f‘]' Methyl isocyanate
(2) Nitrous oxide
(3) Methane
(4) Carbon monoxide
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JT29 / INSTRUCTIONS
Hlo THo WRo TM-UFw U &1 «ft vfafe w3 & urat Fom adlt srEwt =t wraurigds g &)

PLEASE READ ALL THE INSTRUCTIONS CAREFULLY BEFORE MARKING ANY ENTRY ON
THE OMR ANSWER SHEET.
1. g zw-gaa ) A oufaai 2, ga ufa, =9 ofa od asadf ofa) @ w=ife wem 3 w1
This answer sheet consists of three copies. the original copy, the Board Copy and the Candidate’s
Copy. Do not separate or displace them.
fak w49 afa-aiez U3 W F EErE w ) UHA W A U9 W AT B §A1 20 & Te wiA men
smadi afa &1 s @ 3 @)
Use Black/Blue Ballpoint Pen only. Use of Pencil/ Gel pen is strictly prohibited. Do not darken the
Board Copy and Candidate's Copy separately.
3. sle THo ¥Wio IW-TFE &1 3 W2 HW F1E ol 3= fawma 3 amd)| feeh o s wre, e o, geERe
siife F1 grAuTE afsa 2 o3 v AR W osnadf] | owEng g o
Do not fold or put any strav marks anyvwhere on the OMR answer sheet. Use of any other paper,
calculating machine, mobile, etc., is prohibited and will lead to disqualification.
4. 9MTFE Wlo UHe WHe ITA-THE ) A qHaziw SRAN @Emus # A Wl s w vea 9 9 sies
We THo ¥WPe IWM-Ta# WATZ 70N MR 3R g F8 $1 wmofy
Your OMR answer shect will be evaluated through electronic scanning process. Incomplete or
incorrect entrics will render vour OMR answer sheet invalid and will notgbe evaluated.
5. UHE WEYVTF AT ETANTETET sfle URo WMo TR-TAF T W R 3o WHo MWe IW-TIH F AEAE F
sqafa T8 2
Carcfully fill in all the necessary particulars on the OMR answer sheet. Change of OMR answer sheet
1S not permitted.
6. 4z ¥W wE3 I R 7E B Suw M A FEn A R, @ O9F IW F) REA GH ACN ) G F g
e /el & oA wwm 4 i oo ww # wdl men /e w® oA
[f you darken more than one circle in your answer, your answer will be treated as wrong. While
darkening the appropnate circle(s) in tgc boxes, darken the chosen circle(s) fully as givengbclow :

[

& a5 CORRECT METHOD TER #fF [ WRONG METHODS

OO QOO OFOD® OBOO OORG CO®

=)

sl 1 Al F 3 A I 1, 2, 3aw 4 ¥ 8 23 ) werE wva A w3 g3 @ i afte wRe amo
FI-TEE H A7 A F A1 20 M g0 MA F A F1 R T8 21 wan & 2R Hlo WHe MHe IW-TIF W
fazra & fan g, avgs, =g, Ak At gael/argen wafe & wam dva fmy )

Candidates have to answer questions from the multiple choice of answers 1, 2, 3 and 4. Select the
right answer of each question and darken the correct circle on the OMR answer sheet. Once darkened
changes arc not permitted. Use of eraser. nail, blade, white fluid /whitener, etc., to smudge, scratch,
damage in a nanner on the OMR answer sheet during examination is strictly prohibifed.

8. sterd] wian WA AT W afle WHo Mo IM-wEE At ufedl & wem fEu fam wea afefas #1 dte 3
swped] ufa wa afefaE gm owem v 3 2 A Smof) serdfi s9A /19 3o WHe WWo IAT-USE # el
ofd F oA @ ogEA P

Candidates must hand over the OMR Answer Sheet without separating the three copies to the
invigilator at the end of examunation. Invigilator wall hand over the Candidate's Copy after separating
it. The candidate can tuke away the Candidate’s Copy of OMR Answer Sheet with him/her.

9 Fefl ot st w1 Agrem 3 F w o arefl @1 Hlo TRe WRe IW-FE W B v 3w Wi wd A

FTOTR
Ir . discrepancy in following the instructions, candidate’s OMR Answer Sheet will be
I Jdiny and will not be evaluated.
EX LR O FI INC ' R0CESS OF Ty | Fe—
OME NBWF :ET\ Rc;iltrltion Number |— Reol Number @ QE:?L:}:C \__ﬁu“:._. i |

W b i 9T Y
T JRTOT
Candidate v.uee ull all the entries
as demonstraird. For Example
Remistration No.o - 1516288601, Roll
No - 6525764434 Question Booklet
Series - B, Language-I1 - Urdu

lnjejElelele]e] e
@ -I.,.?d'.\..

sasfl wefstn wiey & sique ufafeat
afwa # 32Em % fFn wftem wwE
1510288901, MAFETF 6528764434,
PEERR TR Caksit FRECIRY | M B

AEROROOEOE [
OREEEELOOQE]
EEOCOOHLEOEE
OECLO0COB [

OEOEELLLOOL]
CEOEOOOROG (=]
@EOROMLEOE
OEROOEOEOO
@EOeLOKLO0O
QO0EGLROE
LO0OLOOEOO
0EOEREG®LEOG
PROERELLOe
GELELLLCOO
PELOVELEOEE]
P0LELEOE =
CEO0OOEOEHE
OEOLOLEROGE
EEEOEOCOOE]
CERODVOLEOE[E]
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